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P309 — examples of ECVAA system processing notifications

m Various examples of the notifications submitted to the ECVAA system are provided which
should be used in conjunction with the draft legal text

m Examples include those notifications with effective from/to periods and those in perpetuity

m For each example additional rows were completed to show the net effect under the:

— Current arrangements

— P309 Dual mode (new drafting which includes ‘initial” notifications)

— P309 solution — authorisation set to ‘overwrite only’ (replacement — same as baseline)
— P309 solution — authorisation set to ‘additive only’ (additional)
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P309 — scenario 1

m Two notifications, same IDs, overlap of effective (i.e. from/to) periods

(10MWh, ID:1)

- & 1stnotification (ID:1) S e ——————
IS 20MWh, ID:1
£ O 2nd potification (ID:1) ( ) ]
095
< . (10MWh, ID:1) (20MWh, ID:1)
Net effect — Baseline € S —
(10MWh, ID:1) (20MWh, ID:1)
P309: Dual mode<€ P —————————
. 10MWh, ID:1 20MWh, ID:1
Net effect — P309: Overwrite selected < ( ) ( ) S ——
10MWh, ID:1
Net effect — P309: Additive selected < ( ) B e e
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows

+ Baseline: 2n notification is an overwrite because IDs are the same;
after last applicable ‘Effective to’ date, zero/null contract volume
applied.

» P309 Dual mode: Same scenario as current baseline.

P309 solution if ‘overwrite’ selected:
o Overwrite, as baseline.
» P309 solution — ‘additive only’ selected

o 2" notification rejected because it is an overwrite of the 1st
(ie same ID) but in additive mode.

o 1st notification remains in effect until its ‘Effective to’ date.

w

Key:

(10MWh, ID:1)
>

<
>

S —

ECVN of volume X" MWh, ID number ‘Y’
From date

To date

Effective in perpetuity (no To date)

Zero contracted volume assumed in
perpetuity (no notification applicable)
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P309 — scenario 1P (in perpetuity)

m Two notifications, same IDs, overlap of effective (i.e. from/to) periods

- & 1st notification (ID:1) ¢ (10MWh, 1D:1)
™ 20MWh, 1D:1
£ £ 2nd notification (ID:1) ( )
]
= : (10MWh, ID:1) (20MWh, ID:1)
Net effect — Baseline € >€
(10MWh, ID:1) (20MWh, ID:1)
P309: Dual mode<€ >€
10MWh, ID:1 20MWh, ID:1
Net effect — P309: Overwrite selected < (10 - ) > € ( )

10MWh, ID:1
Net effect — P309: Additive selected <€ ( )

1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007
Commentary on ‘Net effect’ rows Key:

+ Baseline: 2nd notification is an overwrite because IDs are the same. _ “w o
(10MWh, 1D:1) s ECVN of volume X" MWh, ID number 'Y

* P309 Dual mode: Same scenario as current baseline.

» P309 solution —‘overwrite only’ (replacement) selected: < From date
o Overwrite, as baseline. > To date

» P309 solution — ‘additive only’ selected:

€— Effective in perpetuity (no To date
o 2 notification rejected because same ID but in Add mode. PErp ty ( )

o 1% notification remains in effect. | =m————— Zero contracted volume assumed in
perpetuity (no notification applicable)
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P309 — scenario 2

= Two notifications, different IDs, overlap of effective (i.e. from/to) periods

(10MWh, ID:1)

- & 1stnotification (ID:1) S e ——————
)
S g a- 20MWh, ID:2
£ £ 2nd notification (ID:2) : ) e
D -+
2
. 10MWh, ID:1 30MWh 20MWh, ID:2
Net effect — Baseline € ( ) >(< >% ( ) P ———————
(10MWh, ID:1) (30MW>I12 (20MWh, ID:2)
P309: Dual mode <€ ><€ P mmmm————-
. 10MWh, ID:1
Net effect — P309: Overwrite selected < ( ) e e P L L e
. 10MWh, ID:1 30MWh 20MWh, ID:2
Net effect — P309: Additive selected € ( ) ;< M ( R
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007
Commentary on ‘Net effect’ rows Key:
+ Baseline: 2" notification considered ‘additive’ in relation to the 1st _
notification as the IDs are different. (10MWh, ID:1) > ECVN of volume X" MWh, ID number ‘Y’
« P309: Dual mode: Same scenario as current baseline (note that 2nd < From date
notification meets the further criterion for an additive notification
under P309, that there is an overlap of the effective periods). > To date

P309 solution if Overwrite selected: 2" notification would be rejected
as ‘overwrite’ has been selected as the mode of operation so would
be invalid.

+ P309 solution if Additive selected: 2" notification would be accepted
and added to the 1st notification as there is an overlap as the effective
to date of the 1st notification is after the effective from date of the 2nd
notification.

®)

€— Effective in perpetuity (no To date)

Zero contracted volume assumed in
perpetuity (no notification applicable)
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Net effect — P309: Overwrite selected <

P309 — scenario 2P (in perpetuity)

= Two notifications, different IDs, overlap of effective (i.e. from/to) periods

1st notification (ID:1) ¢

(10MWh, ID:1)

2nd potification (ID:2)

Date of
Notification

(10MWh, ID:1)

(20MWh, ID:2)

(30MWh,

ID:1+2)

Net effect — Baseline €

(10MWh, ID:1)

P309: Dual mode€

(30MWh, ID:1+2)

(10MWh, ID:1)

Net effect — P309: Additive selected <€

(10MWh, ID:1)

(30MWh, ID:1+2)

1 Mar 5 Mar
2007 2007

Commentary on ‘Net effect’ rows
Baseline: 2" notification considered ‘additive’ in relation to the 1st
notification as the IDs are different.

P309 Dual mode: Same scenario as current baseline.

P309 solution if Overwrite selected: 2" notification would be rejected
as ‘overwrite mode’ has been selected as the mode of operation so
additive notification would be invalid.

P309 solution if Additive selected: Same scenario as current baseline.

(o)}

10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007
Key:

(10MWh, 1D:1) s ECVN of volume X’ MWh, ID number 'Y’

<
>

D —

From date
To date
Effective in perpetuity (no To date)

Zero contracted volume assumed in
perpetuity (no notification applicable)
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P309 — scenario 3

m Two notifications, same IDs, no overlap of effective (i.e. from/to) periods (Assuming Gate Closure has not passed for any

notifications) (10MWh, ID:1)
1st notification (ID:1) <€

w O
o & (20MWh, D:1)
LQ O . . D o e o e e
™ & 2 npetification (ID:1)
Ay
= : (10MWh, ID:1) (20MWh, ID:1)
Net effect — Baseline € >—=———€ LS
(10MWh, ID:1) (20MWh, ID:1)
P309: Dual mode€ >-——=€ Pmmmmmmmm— -
. 10MWh, ID:1 20MWh, ID:1
Net effect — P309: Overwrite selected < ( ) > S ( ) S ——
. (10MWh, ID:1) (20MWh, ID:1)
Net effect — P309: Additive selected <€ P === P m
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007
Commentary on ‘Net effect’ rows Key:
+ Baseline: 2" notification “additive” in relation to the 15t notification as _ “wr .
although the IDs are the same the effective from date of the 2nd <€ (10MWh, ID:1) > ECVN of volume X" MWh, ID number ‘Y

notification is not before the effective to date of the 1st notification.
< From date

+ P309 Dual mode: 2" notification will be considered an ‘initial’
notification because there is no overlap between the 15t and 2"d > To date

notifications so both notifications would be considered valid.
€— Effective in perpetuity (no To date)

P309 solution if Overwrite selected: no overlap so 2™ notification

would be accepted as it is considered a valid ‘initial’ notification. |  ______ Zero contracted volume assumed in

perpetuity (no notification applicable)

[FE3TON

+ P309 solution if Additive selected: no overlap so 2" notification would
be accepted as it is considered a valid ‘initial” notification.
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P309 — scenario 3P (in perpetuity)

m Two notifications, same IDs, overlap of effective (i.e. from/to) periods (Assuming Gate Closure has not passed for any

notifications) (10MWh, ID:1)
1st notification (ID:1) <€

of

Date
Notification

(20MWh, ID:1)

2nd notification (ID:1)

- (10MWh, ID:1) (20MWh, ID:1)
Net effect — Baseline € >€
(10MWh, ID:1) (20MWh, ID:1)
P309: Dual mode<€ >€
. 10MWh, ID:1 20MWh, ID:1
Net effect — P309: Overwrite selected < (10 ) >€ ( )

(10MWh, ID:1)

Net effect — P309: Additive selected <€

1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007
Commentary on ‘Net effect’ rows Key:

« Baseline: 2" notification considered an overwrite to the 1¢t _ “wr .
notification as the 1%t notification has no effective to date and the IDs | ¢ (10MWh, TD:1) s ECVN of volume X" MWh, ID number ‘Y

are the same.

. . < From date
» P309 Dual mode: Same scenario as current baseline.

P309 solution if Overwrite selected: 2n notification would be accepted > To date

as it has the same ID as the 1st notification and there is an overlap so ¢ . .
it would be considered a valid ‘overwrite’ notification. Effective in perpetuity (no To date)

+ P309 solution if Additive selected: 2" notification would be rejected | = @ ===——- Zero contracted volume assumed in
X O
as the IDs are the same and there is an overlap so the 2" notification perpetuity (no notification applicable)

would be considered invalid as an ‘overwrite’ notification. i o ettt A
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P309 — scenario 4

= Two notifications, different IDs, no overlap of effective (i.e. from/to) periods (Assuming Gate Closure has not passed for

any notifications) (10MWh, ID:1)
1st notification (ID:1) <€

w O
o & (20MWh, D:2)
LQ O . . D o e o e e
™ & 2 netification (ID:2)
Ay
= _ (10MWh, ID:1) (20MWh, ID:2)
Net effect — Baseline € >====€ P mmmmmmmm——-
(10MWh, ID:1) (20MWh, ID:2)
P309: Dual mode€ >---—¢€ P mmmmmmm———-
. 10MWh, ID:1 20MWh, ID:2
Net effect — P309: Overwrite selected < ( ) > (R ( ) Pmmmmm
e 10MWh, ID:1 20MWh, ID:2
Net effect — P309: Additive selected € ( ) P ( ) P o
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007
Commentary on ‘Net effect’ rows Key:
« Baseline: 2" notification ‘additive” in relation to the 15t notification as _ “wr .
the effective from date of the 24 notification is not before the <€ (10MWh, ID:1) > ECVN of volume X" MWh, ID number ‘Y

effective to date of the 1st notification (the IDs are also different).
S : . i < From date
+ P309: Dual mode: 2 notification will be considered an ‘initial’

notification as there is no overlap between the 1st and 2" notifications > To date

so both notifications would be considered valid.
€— Effective in perpetuity (no To date)

P309 solution if Overwrite selected: no overlap so 2™ notification

would be accepted as it is considered a valid ‘initial’ notification. |  ______ Zero contracted volume assumed in

perpetuity (no notification applicable)

[FE3TON

+ P309 solution if Additive selected: no overlap so 2" notification would
be accepted as it is considered a valid ‘initial” notification.
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P309 — scenario 4P (in perpetuity)

m Two notifications, different IDs, overlap of effective (i.e. from/to) periods (Assuming Gate Closure has not passed for any

notifications)

(10MWh, ID:1)

1st notification (ID:1) <€

of

Date
Notification

2nd notification (ID:2)

(10MWh, ID:1)

(20MWh, ID:2)

Net effect — Baseline €

(10MWh, ID:1)

(30MWh, ID:1+2)

< (30MWh, TD:1+2)

P309: Dual mode€

Net effect — P309: Overwrite selected <

(10MWh, ID:1)

(10MWh, ID:1)

(30MWh, TD:1+2)

Net effect — P309: Additive selected <€

1 Mar
2007

5 Mar
2007

Commentary on ‘Net effect’ rows
« Baseline: 2" notification will be considered ‘additive’ in relation to the
1st notification as the IDs are different.

P309: Dual mode: Same scenario as current baseline, but the 2nd
notification also meets the added P309 criterion for an additive
notification of overlapping the 1st notification.

P309 solution if Overwrite selected: 2" notification is considered an
‘additive’ notification in respect of the 1st notification so would be
rejected if overwrite was selected as the mode of operation.

« P309 solution if Additive selected: Same scenario as current baseline.

10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007
Key:
(10MWh, 1D:1) s ECVN of volume X’ MWh, ID number 'Y’
< From date
> To date

€— Effective in perpetuity (no To date)

Zero contracted volume assumed in
perpetuity (no notification applicable)
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P309 — scenario 5

m Two notifications, same IDs, overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

- & 1st notification (ID:1) < (10MWh, ID:1) S e mmmmmmm
T 20MWh, ID:1
£ £ 2nd notification (ID:1)€ : ) P e ————
]
=
. (20MWh, ID:1)
Net effect — Baseline € e
(20MWh, ID:1)
P309: Dual mode< ittt
. 20MWh, ID:1
Net effect — P309: Overwrite selected € ( ) P e ——————————
10MWh, ID:1
Net effect — P309: Additive selected € ( I —
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows

« Baseline: 2" notification will be considered ‘overwrite’ in relation to the 1t notification as the IDs are the same
and the effective from date of the 2" notification is before the effective to date of the 1st notification.

P309: Dual mode: 2 notification will be considered ‘overwrite’ in relation to the 1st notification (not ‘initial’ or

‘additive”) as the IDs are the same and the effective from date of the 29 notification is before the effective to date

of the 1st notification.

« P309 solution if Overwrite selected: 2nd notification would ‘overwrite’ the 1st notification as the IDs are the same
and the effective from date of the 2" notification is before the effective to date of the 1st notification.

« P309 solution if Additive selected: 2" notification would be rejected as the IDs are the same and overwrite data
criteria are met, and therefore it would be an ‘overwrite’ notification so would be considered invalid.
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P309 — scenario 5P (in perpetuity)

m Two notifications, same IDs, overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

1st notification (ID:1) < (10MWh, 1D:1)

20MWh, ID:1
2nd notification (ID:1)€ ( )

Date of
Notification

(20MWh, ID:1)

Net effect — Baseline €
(20MWh, ID:1)

P309: Dual mode€

Net effect — P309: Overwrite selected € (20MWh, 1D:1)

(10MWh, ID:1)

Net effect — P309: Additive selected <€
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows
« Baseline: 2nd notification will be considered ‘overwrite’ in relation to the 1st notification as the IDs are the same
and the 1st notification has no effective to date.

« P309: Dual mode: 2" notification will be considered ‘overwrite’ in relation to the 15t notification (not ‘initial’ or
‘additive’) as the IDs are the same and the 1%t notification has no effective to date.

« P309 solution if Overwrite selected: 2nd notification would overwrite the 1st notification as the IDs are the same so
the overwrite criteria would be met so it would be a valid overwrite notification and the 1st notification has no
effective to date.

+ P309 solution if Additive selected: 2" notification would be rejected as the IDs are the same and overwrite data
criteria are met, and therefore it would be an ‘overwrite’ notification so would be considered invalid.

u [EE3XON



P309 — scenario 6

m Two notifications, different IDs, overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

- _§ 1st notification (ID:1) < (10MWh, ID:1) S e mmmmmmm
& é 2nd potification (ID:2)€ (0T, 102 P e ————
!
- Net effect — Baseline € (20MWh, 1D:2) QOMWQ (10MWh, ID:1) R
P309: Dual mode < (20TWh, TD:2) _gguwiy, (10PN, TD-1) S
Net effect — P309: Overwrite selected < (10MWh, ID:1) S —
Net effect — P309: Additive selected € S @WQ (10MWh, ID:1) P ————
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows
« Baseline: 2nd notification considered ‘additive’ in relation to the 1st notification as the IDs are different.

« P309: Dual mode: 2" notification will be considered ‘additive’ in relation to the 1st notification as the IDs are
different and the effective periods of the notifications overlap.

+ P309 solution if Overwrite selected: 2" notification would be rejected as the IDs are different so the additive
criteria would be met, and therefore it would be an ‘additive’ notification so would be considered invalid.

« P309 solution if Additive selected: 2" notification would be accepted as the IDs are different so it would be added
to the 1st notification as it is considered a valid ‘additive’ notification.
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P309 — scenario 6P (in perpetuity)

m Two notifications, different IDs, overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

- S 1t notification (ID:1) < (10MWh, ID:1)
S 20MWh, ID:2
£ £ 20 potification (ID:2)€ ( )
!
< . (20MWh, ID:2) (30MWh, ID: 1 &2)
Net effect — Baseline € >€
(20MWh, ID:2) (30MWh, ID: 1 &2)
P309: Dual mode<€ >€
Net effect — P309: Overwrite selected < (10MWh, ID:1)

(20MWh, 1ID:2) ><(30MWh, ID: 1 &2)

Net effect — P309: Additive selected €

1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows
« Baseline: 2nd notification considered ‘additive’ in relation to the 1st notification as the IDs are different.

* P309: Dual mode: Same scenario as current baseline.

+ P309 solution if Overwrite selected: 2" notification would be rejected as the IDs are different so the additive
criteria would be met, and therefore it would be an ‘additive’ notification so would be considered invalid.

« P309 solution if Additive selected: 2" notification would be accepted as the IDs are different so it would be added
to the 1st notification as it is considered a valid ‘additive’ notification.

. [EE3XON



P309 — scenario 7

Net effect — P309: Overwrite selected €

Net effect — P309: Additive selected

Date of
Notification

Two notifications, same IDs, no overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

(10MWh, ID:1)

1st notification (ID:1) < R —
. g . 20MWh, ID:1
2nd potification (ID:1) € : = Ee e
. 20MWh, ID:1
Net effect — Baseline € { .
(20MWh, ID:1)
P309: Dual mode € >-—--r------------mmsmsm—mm—m—mm—m—m e
20MWh, ID:1
( ) S e e e e e e e
10MWh, ID:1
________________________ —€ ( L ) T
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows
« Baseline: 2nd notification ‘overwrite’ in relation to the 1st notification as the IDs are the same and the effective

from date of the 2" notification is before the effective to date of the 1st notification.

P309: Dual mode: 2" notification will be considered a valid ‘overwrite’ notification as the 2" notification has the
same ID and the effective from date of the 2" notification is prior to the effective to date of the 1t notification.
The 1st notification would therefore be wiped out.

P309 solution if Overwrite selected: 2" notification would overwrite the 15t notification as the IDs are the same
and the effective from date of the 2" notification is before the effective to date of the 1st notification.

P309 solution if Additive selected: 2" notification would be rejected as the IDs are the same and the overwrite
criteria is met, therefore it would be an ‘overwrite’ notification so would be invalid.

[EE3XON



P309 — scenario 7P (in perpetuity)

m Two notifications, same IDs, overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

1st notification (ID:1) < (10MWh, 1D:1)

20MWh, ID:1
2nd notification (ID:1)€ ( )

Date of
Notification

(20MWh, ID:1)

Net effect — Baseline €
(20MWh, ID:1)

P309: Dual mode€

Net effect — P309: Overwrite selected € (20MWh, 1D:1)

(10MWh, ID:1)

Net effect — P309: Additive selected <€
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows

« Baseline: 2" notification considered ‘overwrite’ in relation to the 1st notification as the IDs are the same and the
effective from date of the 2" notification is before the effective to date of the 1st notification.

P309: Dual mode: 2 notification will be considered ‘overwrite’ in relation to the 1st notification (not ‘initial’ or
‘additive”) as the IDs are the same and the effective from date of the 29 notification is before the effective to date
of the 1%t notification.

» P309 solution if Overwrite selected: 2nd notification would overwrite the 1st notification as the IDs are the same
and the effective from date of the 2" notification is before the effective to date of the 1st notification.

« P309 solution if Additive selected: 2" notification would be rejected as the IDs are the same and overwrite data
criteria are met, and therefore it would be an ‘overwrite’ notification so would be considered invalid.
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P309 — scenario 8

m Two notifications, different IDs, no overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

- S 1t notification (ID:1) < (10MWh, ID:1) A
® 20MWh, ID:2
£ £ 2nd notification (ID:2)¢ ( e
Q )
>
. 20MWh, ID:2 10MWh, ID:1
Net effect — Baseline € ( ) > = ( ) P mmm -
(20MWh, ID:2) 10MWh, ID:1
P309: Dual mode€ R ( ) e
. (20MWh, 1D:2) 10MWh, ID:1
Net effect — P309: Overwrite selected € P———— ( ) D
‘s (20MWh, ID:2) 10MWh, ID:1
Net effect — P309: Additive selected <€ L ETE ( ) P mm——————
1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows

« Baseline: 2" notification considered a valid ‘additive’ notification in relation to the 1st notification as the IDs are
different so the additive criteria will be met.

+ P309: Dual mode: 2 notification will be considered a valid ‘initial’ notification as there is no overlap between the
15t and 2 notifications.

« P309 solution if Overwrite selected: 2" notification will be considered a valid ‘initial’ notification as whilst the IDs
are different and there is no overlap between the 15t and 29 notifications.

« P309 solution if Additive selected: 2nd notification will be considered a valid ‘initial’ notification as the IDs are
different and there is no overlap between the 1st and 2" notifications.
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P309 — scenario 8P (in perpetuity)

m Two notifications, different IDs, overlap of effective (i.e. from/to) periods, 1st notification starts after 2nd notification

- S 1t notification (ID:1) < (10MWh, ID:1)
S 20MWh, ID:2
£ £ 20 potification (ID:2)€ ( )
!
< . (20MWh, ID:2) (30MWh, ID: 1 &2)
Net effect — Baseline € <
(20MWh, ID:2) (30MWh, ID: 1 &2)
P309: Dual mode<€ €
Net effect — P309: Overwrite selected < (10MWh, ID:1)

(20MWh, 1ID:2) *(30MWh, ID: 1 &2)

Net effect — P309: Additive selected €

1 Mar 5 Mar 10 Mar 15 Mar 20 Mar 25 Mar 30 Mar
2007 2007 2007 2007 2007 2007 2007

Commentary on ‘Net effect’ rows

« Baseline: 2" notification will be considered ‘additive’ in relation to the 1st notification as the IDs are different and
the effective from date of the 2" notification is before the effective from date of the 1st notification.

P309: Dual mode: Same scenario as current baseline.

+ P309 solution if Overwrite selected: 2" notification would be rejected as the IDs are different so the additional
criteria would be met, and therefore it would be an ‘additive’ notification so would be considered invalid.

« P309 solution if Additive selected: 2" notification would be accepted as the IDs are different so it would be added
to the 1st notification as it is considered a valid ‘additive’ notification.

. [EE3XON



P309 — scenario 9

Three notifications, same IDs, overlap of effective (i.e. from/to) periods for 1st and 34 notifications

|
10MWh, ID:1

- & 15t notification (ID:1) < ( N
2 § 2nd notification (ID:1) — 2 T D

e )
= 3rd potification (ID:1) < 20MwWn, 10:1) — ]
Net effect — Baseline<X2Wh, ID:1) . (20MWh, ID:1) S e e
P309: Dual mode <(10MWh, ID:1;< (20MWh, ID:1) S e e e e e
Net effect — P309: Overwrite selected ¢ 10:1))( e e

. s 10MWh, ID:1 20MWh, ID:1
Net effect — P309: Additive selected ¢ ( ) G —< ( ) > e
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows

Baseline: 2n notification would be an ‘additive’ notification in respect of the 1st notification as its effective from date
is after the effective to date of the 1st notification, but the 34 notification would ‘overwrite’ both the 1st notification
and the 2nd notification as its effective from date is before the effective to date of both the 1st and 2" notifications
(2nd notification essentially becomes irrelevant and never has any effect).

P309: Dual mode: 2" notification would be considered a valid ‘initial’ notification in respect of the 1st notification as
there is no overlap between the effective from date of the 1st notification and the effective from date of the 2nd
notification. The 31 notification would be considered an overwrite notification in respect of the 1t and 2nd
notifications because its effective from date is before the effective to date of both the 15t and 2" notifications

P309 solution if Overwrite selected: Same situation as Dual Mode.
P309 solution if Additive selected: 2" notification will be treated as a valid ‘initial’ notification with respect to the 1st

notification. 37 notification would be considered an overwrite of both the 15t and 2nd notifications and would be m
rejected. O N



P309 — scenario 9P (in perpetuity)

m Three notifications, same IDs, overlap of effective (i.e. from/to) periods for 1st and 3" notifications
(10MWh, ID:1)

- S 1t notification (ID:1) <
8 S 20 notification (ID:1) (20MWh, 1D:1)
e =

2 3 potification (ID:1) < 2omwh, 10:1)

(10MWh, ID:];< (20MWh, ID:1)

Net effect — Baseline€

P309: Dual mode LXMW 0], (2oMwh, 10:1)

Net effect — P309: Overwrite selected <(10MWh’ 10:1))( (20Mwh, 1D:1)

Net effect — P309: Additive selected |¢ (1oMwh, ID:1)

1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows

 Baseline: The 2" notification would be a valid overwrite of the 15t notification (i.e. overlap in dates and IDs).
However, the 3 notification would overwrite the 1st and 2" notifications as the 1st and 2" notifications do not have
effective to dates and the notifications have the same ID. Therefore, despite being valid against the 1st notification,
the 2 notification would never have any effect as the effective from date of the 3" notification is before the
effective from date of the 2" notification.

« P309: Dual mode: Same scenario as current baseline.
» P309 solution if Overwrite selected: same as baseline and dual mode.

« P309 solution if Additive selected: 2" and 3 notifications would be rejected as they are considered ‘overwrite’
notifications as they have the same ID so would be invalid in additive mode.
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P309 — scenario 10

m Three notifications, different IDs, overlap of effective (i.e. from/to) periods for 1st and 3 notifications
(10MWh, ID:1)

- & 15t notification (ID:1) < B e .
-E; - . 20MWh, ID:2
2 £ 2nd npetification (ID:2) <€ ( ) P mm
C .=
D -+
= 3rd potification (ID:3) < 20MWn, 10:3) — ]
. :1)(30MWh, ID:1 : 20MWh, ID:2)
Net effect — Baselme<(10MWh’ ID:J Q L 3( ( P mmmmmm———
P309: Dual mode <(10MWh, ID:1)>@MWh, ID;@ (20MWh, IDi)>< (20MWh, ID:2) —_—
. : 20MWh, ID:2
Net effect — P309: Overwrite selected ¢ QOMWH, D) e m e : S e e
- 10MWh, ID:1 : . _
Net effect — P309: Additive selected . ) (somwh, Ip:183)(20mwh, 10:1) S (20MWh, 10:2) S e e
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows
Baseline: Both the 2" and 3 notifications will be considered valid ‘additive’ notifications as they have different IDs.

P309: Dual mode: 2" natification will be considered a valid ‘initial” notification in respect of the 1t notification as there
is no overlap between the 1st and 2" notifications. The 3 notification will then be a valid ‘additive’ notification in
respect of the 1st and an initial in respect of the 2", so all three notifications will be valid.

P309 solution if Overwrite selected: 2" notification will be considered a valid ‘initial’ notification in respect of the 1st
notification as there is no overlap between the 1st and 2" notifications. The 3™ notification will be rejected as it would
be considered an ‘additive’ of the 1st notification (the fact that it would be initial with respect to the 2" notification is
not relevant).

P309 solution if Additive selected: Same situation as Dual Mode. 2" notification will be considered a valid “initial’
notification in respect of the 1t notification as there is no overlap between the 1st and 2" notifications. The 3™

notification will then be a valid ‘additive’ notification in respect of the 15t and an initial in respect of the 2" so all three
notifications will be valid. \O N
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P309 — scenario 10P (in perpetuity)

m Three notifications, different IDs, overlap of effective (i.e. from/to) periods for 1st and 3 notifications
(10MWh, ID:1)

- S 1t notification (ID:1) <
20MWh, ID:2
8 S 2n notification (ID:2) (20MWh, 1D:2)
e )
2 3 potification (ID:3) < 2omwh, 103
. : h, ID: 50MWh, ID:1+2+3
Net effect—BaseI|ne<(1°MWh’ ID'l)QOMW ID:185) < ( )

10MWh, ID:1 . D
P309: Dual mode <( )£3OMWh, ID:1&3) e (50MWh, ID:1+2+3)

(10MWh, ID:1)

Net effect — P309: Overwrite selected ¢

-y 10MWh, ID:1 . .
Net effect — P309: Additive selected <( )E’OMW*" ID:183) o (5OMWh, ID:1+2+3)
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows
« Baseline: Both the 2" and 3 notifications are considered valid ‘additive’ notifications in respect of the 1st notification
and of each other as they both have different IDs so will both be accepted.

» P309: Dual mode: Same scenario as current baseline.

309 solution if Overwrite selected: 2" and 3" notifications are considered ‘additive’ notifications in respect of the 1st
notification as they have different IDs so will both be considered invalid in ‘overwrite” mode.

» P309 solution if Additive selected: Same scenario as current baseline.
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P309 — scenario 11

m Three notifications, same ID, overlap of all effective (i.e. from/to) periods

& 1% notification (ID:1)< (LOMWh, TD:1) N
g 8 2nd potification (ID:1) e\ 2OHWHEIDT) e
o =
= O 3rd notification (ID:1) < {20MWh, ¥D:1) S e —————————
Net effect — Baseline< (10Mwh, ID:1) >€ (20MWh, ID:1) S s
P309: Dual mode (10Mwh, ID:1) Sk (20MWh,ID:1) S e
10MWh, ID:1 .
Net effect — P309: Overwrite selected < ( ) >¢ (20Mwh, 1D:1) e e —————-
- : iti OMWh, ID: 20MWh, ID:1
Net effect — P309: Additive selected < (10MWh, 1D:1) g o_le ( ) e
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows

- Baseline: 3 notification would ‘overwrite’ the 15t notification as there is an overlap between the effective to date of the 1t notification and the
effective from date of the 3" notification. 2" notification would be considered an ‘additive’ notification in respect of the 1t notification (its
effective from date is after the effective to date of the 1t notification) but is overwritten by the 3 notification (it essentially becomes irrelevant).

« P309: Dual mode: 3™ notification would ‘overwrite’ the 1st notification as there is an overlap between the effective to date of the 15t notification
and the effective from date of the 3™ notification. The 2" notification would be considered an ‘initial’ notification in respect of the 1st notification
as there is no overlap but is overwritten by the 3 notification as they share the same IDs and overlap.

 P309 solution if Overwrite selected: 3 notification would ‘overwrite’ the 1st notification as there is an overlap between the effective to date of the
1st notification and the effective from date of the 3 notification. The 2" notification would be considered an ‘initial’ notification in respect of the
15t notification as there is no overlap but is overwritten by the 3 notification.

« P309 solution if Additive selected: no overlap between the effective to date of the 1st notification and the effective from date of the 2nd
notification, so 2" notification treated as valid ‘initial’. 3™ notification would be rejected as an ‘overwrite’” notification.

. IHE3\ON



P309 — scenario 11P (in perpetuity)

m Three notifications, same ID, overlap of all effective (i.e. from/to) periods
(10MWh, ID:1)

- S 1t notification (ID:1) <
8 S 20 notification (ID:1) (20MWh, 1D:1)
e =

2 3 potification (ID:1) < 2omwh, 10:1)

(10MWh, ID:%( (20MWh, ID:1)

Net effect — Baseline€

(10MWwh, ID:1;< (20MWh, ID:1)

P309: Dual mode €

Net effect — P309: Overwrite selected <(10MWh’ 10:1))( (20Mwh, 1D:1)

Net effect — P309: Additive selected |¢ (1oMwh, ID:1)

1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows

+ Baseline: 31 notification would overwrite the 1st notification as there is an overlap and the notifications have the
same ID. The 2" notification would therefore never have any effect as the effective from date of the 3 notification
is before the effective from date of the 2" notification.

« P309: Dual mode: Same scenario as current baseline.
» P309 solution if Overwrite selected: Same scenario as current baseline and dual mode.

« P309 solution if Additive selected: 2" and 3 notifications would be rejected as they are considered ‘overwrite’
notifications as they have the same ID so would be invalid in additive mode.
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P309 — scenario 12

m Three notifications, different IDs, overlap of all effective (i.e. from/to) periods

e as 10MWh, ID:1
us ,5 1st notification (ID:1)< ( ) S
)
g 8 2 notification (ID:2) < 20MWh, 1D:2) —
= g 31d potification (ID:3) < {20MWh, ¥D:3) S e —————————
. . (30Mwh, ID:1&3)(20MWh, ID:3) ,ID: :
Net effect — Baseline < G [OY) SR R ), (@ ).
10MWh. ID:1) (30MWh, ID:183) (20MWh, ID:3) (40MWh, ID:2&3) (20Mwh, ID:2)
P309: Dual mode « (1OMWh, 1D:1) >€ >€ 3¢ 3¢ P ——
. 10MWh, ID:1 20MWh, ID:2
Net effect — P309: Overwrite selected € ( ) P € ( ) >
_y = 10MWh, ID:1) (30Mwh, ID:1&3) (20MWh, ID:3) . .
Net effect — P309: Additive selected < ) P R B DD O DE)
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows
 Baseline: Both the 2" and 3" notifications will be considered valid ‘additive’ notifications (although there is an
overlap between all three notifications the IDs are different).

« P309: Dual mode: Same scenario as current baseline except that the 24 notification will be considered a valid
‘initial” notification in respect of the 1st notification, and the 3 notification will be considered a valid ‘additive’
notification in respect of the 1st and 2" notification.

« P309 solution if Overwrite selected: 15t and 2" notifications would be considered valid because the 2n notification
is considered an ‘initial’ notification as even though the IDs are different, there is no overlap. The 3 notification
would therefore be rejected as it is an ‘additive’ notification in respect of the 1st and 2" notification (different ID
and an overlap).

» P309 solution if Additive selected: Same scenario as Dual Mode. 2" notification will be considered a valid ‘initial’

notification in respect of the 1st notification, and the 3 notification will be considered a valid ‘additive’ notification
in respect of the 1st and 2" notification. \O N



P309 — scenario 12P (in perpetuity)

m Three notifications, different IDs, overlap of effective (i.e. from/to) periods for 1st and 3 notifications
(10MWh, ID:1)

- S 1t notification (ID:1) <
h, ID:
8 S 2n notification (ID:2) (20MWh, 1D:2)
e )
2 3 potification (ID:3) < 2omwh, 103
. : 50MWh, ID:1+2+3
Net effect — Baseline<(1°MWh’ ID'l)QOMWh’ ID:185) < ( )

10MWh, ID:1 . :
P309: Dual mode <( ’ )£3OMWh, ID:1&3) (50MWh, ID:1+2+3)

Net effect — P309: Overwrite selected ¢ (10MWh, 1D:1)

-y 10MWh, ID:1 . .
Net effect — P309: Additive selected <( )E’OMW*" ID:183) o (SOMWh, ID:1+2+3)
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows
Baseline: Both the 2" and 3™ notifications are considered valid ‘additive’ notifications in respect of the 1st notification
as they both have different IDs so will both be accepted.

P309: Dual mode: Same scenario as current baseline. However the reasoning is down to there being an overlap
between all three notifications so the 2" notification will be considered a valid ‘additive’ notification rather than an
‘initial” notification.

P309 solution if Overwrite selected: 2" and 3 notifications are considered ‘additive’ notifications in respect of the 1st
notification as they have different IDs so will both be considered invalid in ‘overwrite” mode.

P309 solution if Additive selected: Same scenario as current baseline. All three notifications will be considered valid as
the 2"d and 3 notifications are all ‘additive’ notifications in respect of the 1st notification so are accepted in additive
mode.
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P309 — scenario 13

m Three notifications, overlap of effective (i.e. from/to) periods, 15t and 3 notifications have same ID, 2" notification

different ID :
S 1t notification (ID:1)« (10MWh, ID:1) P S S S S
S N « (QOMWHhID:) o ______
g S 20 potification (ID:2)
™ & o (20MWh, ID:1)
0O § 3 notification (ID:1) < > e e ———————-
=

(10MWh, ID:1)  (20MWh, ID:1) (20MWh, ID:1)(40MWh, ID:182)(20MWh, ID:2)

Net effect — Baseline ¢ —S>e——><€ >¢ 3¢ A ——
(10MWh, ID:1) _ : : 20MWh, ID:2
P309: Dual mode'< (i, o:gygomn, L1 somun, 1gg2) { S N——
. (10MWh, ID:1) 20MWh, ID:2
Net effect — P309: Overwrite selected < P =g ( ) R
10MWh, ID:1 :
( ) S e (20MWh, ID:2) ]

Net effect — P309: Additive selected

\ ’ 1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07
Commentary on ‘Net effect’ rows 3 3/ 13/ /3/ /3/ /03/

Baseline: 3 notification is a valid ‘overwrite’ notification, it would overwrite the 15t notification (they have the same ID and there
is an overlap between the effective to date of the 1t notification and the effective from date of the 3 notification) and it is also
additive with respect to the 2" notification (different IDs). 2" notification is a valid ‘additive’ notification (different ID to the 1st
and 3r).

P309: Dual mode: Same scenario as current baseline except that 2" notification is considered a valid ‘initial’ notification. 3
notification is a valid ‘overwrite’ notification, it would overwrite the 1st notification as they have the same ID and there is an
overlap between the effective to date of the 1st notification and the effective from date of the 3™ notification, and the 3
notification is also additive with respect to the 2 notification (different IDs and an overlap).

Under P309 solution if Overwrite selected: 1st and 2" notifications would be considered valid because the 2" notification is
considered an ‘initial’ notification. The 3" notification would be considered a valid ‘overwrite’ in respect of the 15t but be rejected
as it is an ‘additive’ notification in respect of the 2" notification (different ID and an overlap).

Under P309 solution if Additive selected: 2" notification would be a valid ‘initial’ notification in respect of the 15t notification (IDs
are different and no overlap). The 3 notification would be invalid and rejected as it is an ‘overwrite’ notification of the 1st O N
notification. \



P309 — scenario 13P (in perpetuity)

m Three notifications, overlap of effective (i.e. from/to) periods, 15t and 3 notifications have same ID, 2" notification

different ID (10MWh, ID:1)

1st notification (ID:1)<

of

(20MWh, ID:2)

2nd notification (ID:2) <€

(20MWh, ID:1)
3rd notification (ID:1) <

Date
Notification

(10MWh, ID:1) (20MWHh, ID:1) (40MWh, ID:1&2)
—>¢ -

Net effect — Baseline ¢

(10MWh, ID:1) (20MWh, ID:1) (40MWh, ID:182)
P309: Dual mode <€ —>€ <—
. (10MWh, ID:1) (20MWh, ID:1)
Net effect — P309: Overwrite selected € >€
. (10MWh, ID:1) (30MWh, ID:2)
Net effect — P309: Additive selected € >€
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows

« Baseline: 3" notification is a valid ‘overwrite’ notification It would overwrite the 1st notification (they have the
same ID and there is an overlap between the effective to date of the 15t notification and the effective from date of
the 3 notification). 2" notification is a valid ‘additive’ notification (different ID to the 1st and 3).

« P309: Dual mode: Same scenario as current baseline.

« Under P309 solution if Overwrite selected: 2" notification would be rejected as it is ‘additional’ in respect of the 1st
notification. The 3 notification needs to be assessed against both the 1t and 2" notifications (even though the
2nd notification has been rejected, it is still ‘submitted”). The 3™ notification is a ‘replacement’ notification in
respect of the 1t notification but in respect of the 2" notification it is an ‘initial’ notification.

« Under P309 solution if Additive selected: 2" notification would be added to the 1st notification (IDs are different).
The 31 notification would be invalid as it has the same ID as the 15t notification so would be rejected as it is an

‘overwrite’ notification with respect to the 1st notification. mO N
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P309 — scenario 14

m Three notifications, overlap of effective (i.e. from/to) periods, 2nd and 3rd notifications have same ID, 1st notification

different ID :
S 1t notification (ID:1)« (10MWh, ID:1) P S S S S
G S 20MWh, ID:2
o § 2nd potification (ID:2) « oMWhID2) o .
™ & o (20MWh, ID:2)
0O § 3t notification (ID:2) < > e e ———————-
=

. 10MWh, ID:1) (30Mwh, ID:1&2 20MWh, ID:2
Net effect — Baseline ¢ ( ) —— $< ( )>_

(10MWh, ID:1)  (3omwh, 10:182).  (20MWh, ID:2)
S>€E—>€ >

P309: Dual modeg¢—mm———————¢—">€¢—m8M878F— 5 -
. (10MWh, ID:1) 20MWh, ID:2
Net effect — P309: Overwrite selected € - al BT ( ) P
(10MWh, ID:1) S e (20MWh, ID:2) SR
Net effect — P309: Additive selected
1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07 30/03/07

Commentary on ‘Net effect’ rows

« Baseline: 2" notification considered ‘additive’ with respect to the 1st notification; 3" notification would be
considered a valid ‘additive’ notification with respect to 15 notification (different ID to 15t notification) and would
overwrite the 2" notification (2" notification essentially irrelevant).

« P309: Dual mode: Same scenario as current baseline except that 2" notification would be considered an ‘initial’
notification not an ‘additive’.

« Under P309 solution if Overwrite selected: 2" notification would be considered valid because the 2" notification is
considered an ‘initial’ notification (so can be a valid under overwrite notification mode, even though the IDs are
different, as there is no overlap). The 3" notification would therefore be rejected as it is an ‘additive’ notification in
respect of the 15t notification (different ID and an overlap).

 Under P309 solution if Additive selected: 2" notification is considered a valid “initial’ notification with respect to the
1st notification. 3 notification would therefore be invalid as it would be an ‘overwrite’ notification with respect to
the 2d notification (same ID) so it would be rejected. \O N



P309 — scenario 14P (in perpetuity)

m Three notifications, overlap of effective (i.e. from/to) periods, 2nd and 3rd notifications have same ID, 1st notification

different ID (10MWh, ID:1)

1st notification (ID:1)<

of

(20MWh, ID:2)

2nd potification (ID:2) (20MWh, ID:2)
—

Date
Notification

3rd notification (ID:2)

] 10MWh, ID:1) (30MWh, ID:18&2
Net effect — Baseline ¢ ( ) —3¢ )

(10MWh, ID:1) (Wh' ID:1&2)

P309: Dual mode <
(10MWh, ID:1)

Net effect — P309: Overwrite selected €
(10MWh, ID:1) ! (30MWh, ID:2)

Net effect — P309: Additive selected

1/3/07 5/3/07 10/3/07 15/3/07 20/3/07 25/3/07

Commentary on ‘Net effect’ rows
« Baseline: 3 notification is a valid ‘additive’ notification in respect of the 1t notification (they have different IDs).
2nd notification would be overwritten by the 3™ notification (essentially the 2" notification becomes irrelevant).

« P309: Dual mode: Same scenario as current baseline.

« Under P309 solution if Overwrite selected: Only 1t notification would be considered valid as the 2" and 3
notifications have different IDs to the 1t notification so would both be rejected as ‘additive’ notifications.

« Under P309 solution if Additive selected: 2" notification is considered a valid ‘additive’ notification with respect to
the 1st notification. 3" notification would therefore be invalid as it would be an ‘overwrite’ notification with respect
to the 2M notification (same ID) so it would be rejected.

30/03/07
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